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What are the two major problem faced by the
Jute industry in India ?

Name any two buyers of our jute products.
How does industries couses water pollution ?

How does industrial pollution degrade the
environment ?

What is the importance of manufacturing ?

What are agro based industries ? Give two
examples.

Mention the raw material of agro based
industry.

List out the problems faced by cotton textile
industry.

Sugar mill are shifting towards southern and
western states. Why ?

Why is Iron & Steel industry called a basic
industry ?

Name thte two factors that determine the
location of aluminium industry.

Which states lead in the production of
fertilisers ?

Which city is known as electronic capital of
India ?

Why has the government set up the National
Manufacturing Competitiveness Council ?

What is agglomeration economies ?

Name any four countries which import cotton
goods from India.

What are software technology parks ?

Name any two states which are the leading
producer of fertilisers.

Mention the basic input of the iron and steel

industry.
Name any four industries which are

responsible for water pollution.
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Describe any four major problems faced by
cotton textile industry in India.

Explain any four factors which are
responsible for decentralisation of cotton
industry in India.

Explain any four measures to control air
pollution created by industry in India.

Explain any four reasons for the rapid growth
of the chemical industry in India.

Explain how industrial pollution degrade the
environment.

Describe four physical factor that affect the
location of an industry.

What factors have led to the localisation of
cotton textile industry in Mumbai and
Ahmedabad ?

State the various measures taken by the
goverment to boost the production of jute
goods.

Explain how industry and agriculture go hand
in hand with each other.

Bring out the importance of Information
technology and electronic industry in India.

Distinguish between private sector and public
sector industries.

Explain four facts about the development of
sugar industry in India.

What were the major objectives of the
National Jute policy, 2005 ? Why the internal
demand for jute has been on the increase.

“Treatment of industrial wastes can be done
in three phases”. Discuss.

State the challenges faced by the Jute
Industry in India.

Long Answer Type Questions
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What is the importance of sugar industry ?
Why does sugar industry show the tendency
to migrate towards the southern states of
India ? Give four reasons ?
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How has chemical industry gained an
important position in the Indian economy ?
Explain any six points in this regards ?

Why are jute mills concentrated along the
Hugli river ? Explain any six reasons.

Explain aluminium smelting and copper
smelting industries with reference to the
following for each of them.

(i) Two major uses.

(i1) Names of two smelting states.

(ii1) Annual production.

Attempt a classification of industries based on
various factors.

Bring out the importance and development of
cotton textile industry in India.

Discuss all the factor which are responsible for
the rapid centralisation of industries in India.
Why is the iron and steel industry called a
basic and heavy industry.

What are the major challenges of the sugar
industry.

Explain how agriculture and industry are not
exclusive of each other.
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The first textile mill was established in -

(A) Kolkata (B)
Chennai

(C) Mumbai (D)
Coimbatore

Software technology park in Kerala -

(A) Kochi (B)
Thiruvananthapuram
(C) Coimbatore (D) Alleppy

Leading centre of woollen textile industry in
Punjab -

(A) Kanpur

(C) Murshidabad

Which one of the following industries uses
limestone as a raw material -

(B) Ludhiana
(D) Panipat
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(B) Cement
(D) Jute

(A) Aluminium
(C) Sugar
Which state is the leading producer of jute
products in India -
(A) Kerala

(C) West Bengal

(B) Uttar Pradesh
(D) Karnataka

Name the iron and steel plants of Jharkhand -
(A) Bokaro and Jamshedpur

(B) Vijay Nagar and Bhadravati

(C) Chennai and Delhi

(D) Banglore

Name the iron and steel plants of Karnataka -
(A) Vijay Nagar (B) Bokaro
(C) Jamshed pur (D) Ranchi

How many aluminium plants are there in our
country ?

(A7 (B) 10 )8 D) 11
An ore from which aluminium is obtained -
(A) Bauxite (B)
Hematitte

(C) Megnatite (D) None of these

Where was the first cement plant established -

(A) Chennai (B) Mumbai

(C) Delhi (D) Kolkata

India produced over ............... million tonnes
of Aluminium.

(A)500 (B)600 (C)700 (D) 800
Which is the largest producer of bauxite -

(A) Kerala (B) Karnataka

(C) Orissa (D) Rajasthan

India ranks ............... among the world crude

steel producer -

(A)5 (B) 6 ©7 D9
Crushing season of sugarcane is of nearly
.......... month in north -

(A)2 B)6 ©4 (D) 10
Curshing season of sugarcane is of nearly

.......... month in south -
(A)2 (B)4 ©5 (D)8
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